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Directions: Determine if these expressions are equivalent to our target expression.
Use mathematical evidence to support your answer and wrlte yes or no. BONUS: Write
what property you can use to support your answer.
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Directions: Determine if these expressions are equivalent to our target expression.
Use mathematical evidence to support your answer and write yes or no. BONUS: Write
what property you can use to support your answer.

1. 2n + 2
\€S

qun+1+1

/ g
e ]
€S
3. Hﬁz

NO

4. 30+)

. .es
C\SWJ\O\AH v

5. 2(n +2)

O

6. 2(n + ) 2

Ifm+§Ln—3
O

8./n+14n<1

No
9. ézjﬁ)—n—1
B 5 2o P el
\o

ﬂ(l S{'V‘t putilve



Name:_ e Class: LD Date: 5\\5\“—]

Directions: Determine if these expressions are equivalent to our target expression.
Use mathematical evidence to support your answer and write yes or no. BONUS: Write

what property you can use to support your answer. /16;(1
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Directions: Determine if these expressions are equivalent to our target expression.
Use mathematical evidence to support your answer and write yes or no. BONUS: Write

what property you can use to suppgrt your answer.
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Directions: Determine if these expressions are equivalent to our target expression.

Use mathematical evidence to support your answer and write yes or no. BONUS: Write

\what property you can use to suppor RSwer.
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Directions: Determine if these expressions are equivalent to our target expression.
Use mathematical evidence to support your answer and write yes or no. BONUS: Write
what property you can use to support your answet
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Directions: Determine if these expressions are equivalent to our target expression.
Use mathematical evidence to support your answer and write yes or no. BONUS: Write
what property you can use to support your answer.
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ese expressions are equivalent to our target expression.
Use mathematlcal evidence to support your answer and write yes or no. BONUS: Write
what property you can use to support your answer. 2
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